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(1) 300 (2) 600 (3) 486 (4) 386
102. U1 Gik{de 98a ‘INDIA’ & 9153 13416 9 “WORLD’ 31 955 75284 {41 fafead @ ‘DONALD'
HREA T IR
(1) 453684 (2) 455842 (3) 453674 (4) 456384

103, TSIRMHS AU 60 F. Sq 3gd.  HTHa A 69 @hudl died famle wEt e,
AETS AANEE O] WA fque Whn dreimy fusel. de deEs g
FrElHS SO TR GHAYL 40 T, WG B, T OIS ferdt 9@ #1d 2

(1) 160 (2) 320 (3) 70 (4) 140

104. feoe gaod A A0l (e €& FivE] ?
1,5,21,57,121, __?
(1) 150 (2) 176 @) 221 (4) 202

AT HITHS T /SPACE FOR ROUGH WORK
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105. W TSAI@ 12 AENES 8 ANl F 1 3 = fawg (WER) v SE 350 ?

1) 3 2) 6 @) 7 @) 8

106. oS Ge Twifes e e ™ 3R s fasre 3w g vy fasr.

2109 : 41213 : : 951015 : ?

9 10 11 12 13
14 15 16 17 18 19
20 21 22 23 24 25 26

(1) 1281318 (2) 8121813 (3) 1812813 (4) 1381218

107, SEE= STHdIT THU Bl i 3ed ?

1 12 2) 21 3) 15 4) 28

108. feoe TEamIes Fyaf=arear Sl hivd Teur 355 ?

2,4,5,10,12, 24, 27, ?

(1) 81 2) 54 (3) 38 4) 34

o] RITETS ST /SPACE FOR ROUGH WORK
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109. Weasl 309 qOf B0 P, Q, R A1 ST&HIET HH VK 31F =74 T ?

P Q R
+ P Q R
+ P Q R
4 4 4

(1) 1,48 2) 1,84 (3 81,4 4 1,7 4

110. WSS 700 GHH 216 T S fawar sl @, 200 IO A fawar 9 284 70 &t favem
Il gl wEm ottt 70 4 et @ Y W S fawama il wedl, 40 49 wet 9 fusht
3Tty 20 4 &t & susit fawam 3ol 9. 10 9o delt forvam 3ol st o) whrel fawama s
7 o ot weA fadl ?

(1) 120 (2) 130 (3) 140 (4) 150

111, TH AR Foradrard! TR Ud foaam! 4 3t St faasama T sl Heawielt sraie=n O
T AT IH 9 T TESIoe saradtardt Swn Ao qeid §ed faoeal yataiaym
[REEIA

1) 125 @) 36 (3) 64 @) 121

112, YEIrE=Er= S IO veg A5 ?
q9d] : Uhal @ : ddhT 2 ?
(1) we@ (2) o3& (3) ¥oEl @) 3@

113, G RS sigdE sTemde 9fom 9 fTee?

)
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114.

115.

116.

117.

118.

119.

25 AQO2
eI WiERd FEATE==Al S S 45 ?
F O ORY 50 ?
O Hx0O o FHOg 6 Ofg @ GO

S 449 =97, 3¥7 =58 T 9*2 =7
(1) 85 2) 75 3) 65 (4) 45

W 82+23=2,45+27=1, 69+32=3 T 97 + 26 =Tl ?
1 1 2y 2 3) 3 (4) 4

wfee SR AR S Ty TR, qre Fateln QN SRR AR, T yifaere St
FT 9 e ?

TEACHER : SDIBBDU : : DOCTOR : ?

(1) SUNBPC (2) SNUBPC (3) SUBPCN (4) SNPCBU
yeiees famgr=m STt 9y w3t frael

PQRS : WVUT ; : MNOP : ?

(1) QRTS (2) QRST (3) TSQR (4) TSRO

WS et TSt 9o 9 TR S, & ¥ IS S SR foy wehe ?

©
EIEEIN
®

+ e +
W | A© (2) @ ONNIC, (4) E@

oAl SIS AN /SPACE FOR ROUGH WORK
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120.

26 A
Y= 4 31 o HIgH oI W 7 Hol 393 37k, STioy Teiv=at WSt 7 40 Wiegd e g
10 TS I 3 W ST FeA qH=a1 HEen R 1 ome 2
1)y 17 2) 9 3) 8 @ 7

121.

122,

123.

AT B = HST AR, C 81 B 91 wicsh (H@) 3. D ¥ C <1 96 &l 1S 318 E 8 D =yl 1.
TA St E 9 99 i 7

(1) W = (2) HAW =W (3) e (4) Wl

Uah Gishfds g,
“He is teacher” SRdl “Boy asks father.”
“He teaches maths” %{idl “Boy plays cricket.”

“Teacher teaches science” Ial “Father plays cinema.” 8@ & ‘Science’ |Gl HIVAT 7155
AT 3T 7

(1) cinema (2) plays (3)  cricket (4)  asks

RIS S ol fEedT SR, e wrere g 4 fog srear gt germer fEet f6g

ST ?
Ny Ty
1 2 2y 5

G 3 4) 6

124,

(31) ‘A BC WIS AR
(F) ‘B E A= wE e
(F) ‘H &G =S 3=,
(=) 'G & C = g s,
(3) 'S ®'E 099 AR
AL /H’ =7 T I ?
1 A 2 T @) ¢ 4) ¢
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27 AO2

Telg, FE 9 WS TATHIS! [EIedst SO a7 Srhdl arg 3TE ?

(1) (2) g@ (3) @ (4)

126.

Rie Beivie yefe-=sr=ar SIrl S T&l 456 ?

3 5 13
NN
5 7 7

11 17 ?

1) 23 2) 26 (3) 31 4) 19

127.

TS HHER B IO Se 20 aiE dR W (o gy fedt Tl ee ?
(1) 25 2 26 (3) 27 (4) 28

128.

W 99 fa=n wErs 99t % maﬁwaﬂm%wm‘ WTETsT 351 991413 Wi
24 98 FAHEE WA 9 fa=n s ar=n a9i=] s fad) ?

(1) 2099 (2 2aa% (3) 163d (4) 189

129.

A ¥ B I Sl IS AICUAE THid A GEA Hhot. A T 4 . Iue Wed e Jav
IS W@ e 5 fh A Tow. W B 7 uiiEAEe 6 . |ea Aer Al Ssen Sieel ge
721 4 fer . FToeT WA & B UH fhdt Saer e ?

(1) 9 fwHi (2) 10 fwHt. (3) 11 & (4) 12 femHL

130.

W Bw4=3,9mw6=5T7 w5=?
1 2 (2) 4 (3 6 4) 8
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131. X U&F S99 sl (A 1%, %aﬁaﬁﬁmmommﬁawnﬂ%aﬁaﬂmﬁwsﬁﬁa
133 %odidt I fua #el?

(1) %18 @ %19 3) %20 4 %2

132, &I firdt 4e7=1 4 FArra TR Wy sui= ufge 91 waisE 9 9 SR o=l ugiE OTeR 216
1 AR,

108

1) 27— (2) 3,6 18 3) 3,6 12 4) 4,509

133. THA 9 wYAE 9 99 w9giE e Wt 30 fafke wE S 7 Demse 90 ' e
YEET YaE yhrEl ot fafwe @y Fo 3 wer?

(1) 9 T =i=Et=10 (2) Y € @A=15 (3) YA FFEI=5 (4) TG EHE=6
e T =20 T T =15 I wEE =25 T TG = 24

134. 18 HieX Tid IR SH WA TS, mmwﬁmﬂm%wmmmww
st foedt Wil e ?
(1) 10 "X (2) 12 HtX (3) 16 HiX (4) 18 WX

2 2
+ + - .
(739 287) (739-287) =t T 1T ?
739 x 739 + 287 x 287

1 2 @ 1 3) 739 (4) 287

135.

136. 3T T O A=A AT I S 60 T AR, GHU IHHA o a9 o<1 o1 Jse aqreA]
U RS0 R 13 ST HOld! STl a4 &Il ?

(1) S F=40 T 2) oS Ty - 42 9
qod a9 = 2094 s 99 = 18 9°
(3) omEd 9 = 45 a9 (4) A 99 =479
e 99 = 15 99 e &4 = 13 a9

THeedT HETETS! AT /SPACE FOR ROUGH WORK
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3 2 2 5 1

137. SIS HWiEdl 5 { [3 E] 5 ('i —3—] } = 2

) 341 1047 3 349 . 1047

0 20 ( 90 (3) 60 () 20
135, 189, 25 _

07 005

(1) 427 (2) .52.7 (3) 5.27 (4) 527

139. TahT < 97! MErET fAa 5. 4,20,000 TR, I TEHAd=a 90% 3! (A1 SaEo. THl ATaH s

ME QUi THEM 1, 01 gl fam Soin fam Swaearsn 4o fhud=n 90% W&s 7@
Fea™, MEE q fhud 7 Suiened fHeod! fha amed fadl v ols?

(1) % 68,800 (2) % 72,800 (3) % 82,800 (4) ¥ 79,800
140, [210x2-2x 28] =256 T x=?
(1) 0.5 2) 1 (3) 1.5 4 2
1 1 1 1
141. [1“5](1—1](1“5] ----- [ —-éa]?ﬁ%‘-‘raw
= - L it e
1) 5 2 30 3 (4)
142. =1 Tl HoesT =T 51 1 - Fieoed] YiEiges = amEidl Tl 59.6 1 ag

60 AT T =T 51 = AHAS UEaEEA & ?
(1) 80 (2) 70 (3) 90 (4 75

143.

1 I 100 wa=n wd Aafie geiEt ais fad?
(1) 5005 (2) 5055 (3) 5050 (4) 5000

THoeAT HIHTESH S /SPACE FOR ROUGH WORK

P.T.O.



AO2

144.

30 A

TF METdIS TTEEAd feed a6 15% 916 Wol 9 Tl 991 10% = TS, SR o1 mars qearst
SHEEAT 62100 HTHS T G TS @1 MaT= STde ot gt 7

(1) 50000 (2) 70000 (3) 60000 (4) AR HE AR
1 1 1 1 1 .
W5 S T 5 T x5 T g T ey 1
. ) = ) 9 =
0 7 @ @ I @ &

146.

TH WA 25% 7 96 ht 9 & GEAd G 25% T16 hol dX TRl 916 fRdt % 7
(1) 50% (2) 55% (3) 55.25% (4) 56.25%

147.

148.

T HOTel UHT HEAH 25 7 TorEet Hif e gid Wy ®eds! H o §8E 52 7 0TS, S @
IR I STV 324 A G A, T 1 oA 0] G&HH uikel Fiiae & ?

1y 12 2) 15 (3) 25 4) 32

149.

42 5 Hiet Bieien YEEURE, Jaedrs A= 85 Wl Sidren fedl vesar aad ddie ?
(1) 30 (2) 40 (3) 45 (4) 50

150.

e ST 20 9 SEA. ATNRT FET SIS F AT GiEq1 TS oed. §d dgdr wuE fFEa 25 %,
Tl 3G A, SR OIS Sgd! gUE fhHd 20 €94 =g 9 viewn S wOed fahug 30 % Wl 98,
T ore HgH e fohdt ?

(1) 10 2 12 (3) 8 4 14

ol SIHTETE | /SPACE FOR ROUGH WORK
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31 AO2

7 A +15 e + 20 G =Twdl e
(1) 24120 (2) 25120 (3) 26120 (4) 27170

152, JAUS= 9F SENE gErE OE 72 R, ey sEdie HEn o Saeard credn JRgt
ST Jrdil YOGl Toh HHT S 9L Tl e BEdie HrEiE Gen o ?
(1) 62 (2) 64 (3) 66 (4) 68
2.7437 _,
183. =4
1) 1.6 (2) 0.04 3) 16 4) 8
3 5 7 9 11 .
154, 3 or T T T T 252 | 562 < febd e
2 s 2 5y B a 2
D 360 @ 3 ® @ 700

155. U o= THAd 45% 7 9% Searal o a&gal fewd €. 87 Ja ot Wil & S fohva
ot 2 ?
(1) 60 % (2) 70% (3) 50%. (4) 55%

156. 9146 &1 33 7 9WTS I IO TRt fehdl ?
1 5 (2) 15 () 6 4) 7

157. FFIOGE A0=n STa=a1 I1 G&rs=] Ss 20 3R 107 3 =7 o 4 247 HHishr=a G 90w 14

TS I A FE R0 ?
(1) -3,1,529 (2) —2,04,10 (3) 2,4,6, 8 (4) 3,579

158.

TH TIRER Tfeen WA 20, gu1 T 24, fe=n W 28 =t 9 owfiw 4@ wiewt R, SR
YUNETT T 30 TN Odre o8 TR fhdl AR GurEd 99 vl ?

(1) 2400 (2) 2350 (3) 2340 (4) 2300
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159. THT SN o7 57 A9 8 f. 0. g 9T ot 440 {49t =1 wow st 30 TS st B

fo= g 9 fadt?

1 wmeofwEd. (2) amftzofed  (3) s sofwEa.  (4) and 90 fwh.
160. 18, 24, 22, 23, 14, 28, 14, 17, 18, 14, 25, 14 1 H&A dgeh (Mode) FT € ?

(1) 18 (2) 14 (3) 235 (4) 23

2 2 |
161, B —CI) 4 e
3.57 — 2.43

(1) 1.14 2) 5 (3) 6 (4) 6.43

162. sa%ﬁ'@ s=559 t=44 W IS felis oo et S ?
1 1

(1) 2.42 @ 33 (3} 24.2 @ 47
163. 40 Y& Hi & 60 V&7 S U Y@ Al S {2

'(1) 234 (2) 243 (3) 324 (4) 342
164. T A& Il IO 4% WA SFGART S Fl@! 9 AR ST 10% ET dohd STHT

HEl, THa AT=AEes Wi F. 10800 feees Tgam @ @™ oifas: 39— fd ?
(1) % 12000 (2) % 12500 (3) ¥ 20000 (4) % 13000

165.

T+ HE x, —=Gad =, - Fad +, fr x A - AW040-4%x5+6=7
(1) o (2) 8 (3) 14 (4 2

166.

TR HHAR ¥ GEAE GU9Y 27 3T T cisATish Gaiq oeM SEAT HIVE] 2
1 22 (2) 24 (3) 26 4) 28

THeeHT HIWETE FRT /SPACE FOR ROUGH WORK
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1_3 3_1
=Y > —— = bl
167. W x—— = > 3
n 3 @ 3 ®) 3 @ 5
168. T T 30% 7701 W FS g T 10 O ST FET. gEean qenei 52% 1o W S R
SHirol groarrEt SRToTn FH FH O 34 SR IR, O W0 evATes! wHa HHt fdt
T U7 STV 1A ?
1y 33 (2) 35 3) 30 (4) 40
169. S 12x+13y=29
q 13x+12y=21
W x+y=
1 1 2 2 3y 3 4 0
170. 400 +0.04+0.4x 10+ .004 + 0.4 =Tt ?
(1) 44.0444 (2) 440.444 (3) 404.444 (4) 444.404
171. Pick out the correct alternative to complete the following sentence.
If she worked regularly, she her goal
(1) may achieve (2) can achieve
(3) might achieve (4) might have achieved
172. I can’t read his writing. It is

(1) eligible (2) illegible (3) legal (4) illegal

HoAT RIS AT /SPACE FOR ROUGH WORK
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173. The three primary auxiliaries are :

(1) be, have, do

(?2) can, could, would

(3} may, might, must

(4) aught, ought, nought
174. She used to play hide and seek with her girl-friends in her childhood.

Which verb-form can be substituted for ‘used to” to retain the meaning of this sentence ?

(1) had (2) could 3y was (4) would
175. Pick out the correct sentence from the following.

(a) Latin is difficult not only to learn but also to speak.

(b} Not only Latin is difficult to learn but also to speak.

(c) Latin is not only difficult to learn but to speak also.

(d) TLatin is not only difficult to learn but also to speak.

Answers :

(1) (@) only (2) (b)and (only (3) (b)only (4) (d)only
176. Fill in the blank with the correct verb.

[ usually walk to college, but today in my uncle’s car.

(1} go (2) went (3) walk (4) going
177. Choose the incorrect sentence.

(1) Ican not asleep. (2) Ican not sleep.

(3 Ican't go to sleep. (4) Ican fall asleep.
178. A horse

(1) neighs {2) roars (3) Dbarks (4) mews

oAl SHIATATS! JAT /SPACE FOR ROUGH WORK
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Change the following into indirect speech :

“Do you know the way to the museum”, the stranger asked.

(1) The stranger asked me whether I knew the way to the museum.

(2) The way to the museum was asked by the stranger to me.

(3) The stranger told me whether I would be able to tell the way to the museum.

(4) The way to the museum was not known so the stranger enquired with me.
180. Pick out the correct meaning of the underlined phrase. '
| Dead letter. '

(a) a letter written long back

(b) a letter which is dead

(c)  a letter which is not claimed by anyone

(d) a letter which is not read by anyone

Answers :

(1) (a) only (2) f(a) (b)and (d)only (3) (c)only (4) (d)only
181. What is opposite of the word ‘entrance” ?

(1) Door (2) Utterance (3) exit (4) gate
182. Change the following assertive sentence into exclamatory sentence.

India is a great nation.

(1) What a great nation India is ! (2) Wow ! what a great nation India is.

(3} How great nation India is ! (4) Oh ! what a great nation India is.
183. If you run fast now, you will get that bus.

This sentence suggests
(1) probable action (2) possible action

(3) impossible action (4) uncertain action

Fe=AT HIVEE ST /SPACE FOR ROUGH WORK
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184. Which of the following is an abstract noun ?

(1) bread (2) coffee (3) <cheese (4) Thappiness

185. He said to me, “Where does she work ?”
Choose the correct indirect speech of this sentence.
(1} He asked me where she worked.
(2) He asked me where she was working,
(3) He asked me where she is working.

(4) He asked me where she works.

186. In the following question three words are given. Choose the word which is spelt wrongly.
If there is no mistake choose (4) = all correct.

(1} Convenient (2) Perceive (3) recive {4) Al correct

187. Which one of the following sentences is correct ?
)  Your lovely friend.
(i1}  Your loving friend.
M 0
2 i)
(3) Both (i) and (ii)

(4) Neither (i) nor (if)

188. The Earth moved round the Sun . Point out the part of this sentence that is incorrect ?

(1) Object (2) Subject (3) Preposition (4) Verb

e SRIUMETET 9 /SPACE FOR ROUGH WORK
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189. Which one of the following sentences is correct ?

(1) Heis pleased on me.

{ii) He is pleased with me.

® 6

@) )

(3) Both (i) and (ii)

(4}  Neither (i) nor (ii)
190. Change the following sentence into question (Yes/No) type.

Prevention is better than cure.

(1) Is prevention better than cure.

(2) Was prevention better than cure.

(3) Were prevention better than cure.

(4) Does prevention better than cure.
191. ldentify the type of the sentence given below :

‘For earning more money he worked hard.’

(1) Simple (2) Compound

(3) Complex (4) Complex compound
192. Fallow-land means land which is _

(1) barren (2) cultivated (3) uncultivated {4) sown
193. Change the following into Passive Voice.

They gave us some books.
(1) Some books were given to us by them

2) Books were given to us by them

(2)
(3) Books were given by some to us
(4)

Books were given to us by some

THoAT FRTHETS AT /SPACE FOR ROUGH WORK
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194. Complete the following sentence with the correct alternative.
Roll out the

(1) red pen (2) red carpet (3) red signal {(4) red light

195. Identify the adjective in the sentence.
The hand has five fingers.
{1) hand (2} the (3) fingers (4) five

196. Change the following affirmative sentence into negative.
Shut the door.
(1) Do not shut the door. (2) Do not open the door.

(3) Do not close the door. (4) Do not exit the door.

197. Choose the incorrect sentence.

(1) We did believe it. (2) We did not believe it.
(3) We did not believed it. (4) We believed it.

198. Pick out the correct sentence(s) from the following. Choose correct alternative.
(I} Thisis la worth seeing play.
(I)  This play is worth seeing.
Answers
(1) Only (i) is correct
(2) Only (II) is correct
(3) Both (I) and (II} are correct
(4) Both (I} and (I} are incorrect
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199. Say whether the following sentences are correct or incorrect. Choose the correct alternative,
() My brother and his friend commutes every day.

(I) Measles have become less common in the United States.

Answers :
(1) Only (I} is correct (2) Only (I} is correct
(3) Both (I} and (II) are correct (4) Both () and (II) are incorrect

200. Which of the statements given below is/are correct ?
(). He has met him. Hasn’t he ?
(I) He got first division. Isn't it ?
(IlI) He got first division. Didn’t he ?
Answers :
(1) Only (I) is correct
(2) Only (I) and (IIT) are correct
(3) Only (I) and (III) are correct
(4) Al {I), (II) and (III) are correct

-00o0-
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AT — (798 1 969 98.... )

[ AN

(8 WEgIRne fafed Focm faftre srie =4 M (6 o) w6, TEyiasaiaie e =
T FIERER %o FH Hedl o HU SO TIM FS AR, T AFS TRe 9 IHR IHEIE
IR SR hesed  TEme S TRYEEE wioey STy AfufEe-g2 " Aie ae e S
A 430 9 T 1 HHG UH FEA] HUGHEAT A0/ f6Ha1 98 U6 &R &H= Ser= foeg
T TRE.

(9) TR TIEEAE AR e SO0 9 Sueaa Sheawe  Te i Wi wieisamEeT
HET WS WEA #T8. W GHET ST ATUATYE! SHEaTd STUCHT IeaiAch At W1
AHAYSHTHE 7 Taawar wg w07 Iavas

MR RLEE

g %. 201, ' SMER w1 3V w1 Serganan 5y w7
@) T IRy ) Tmifaa o
@) favE ofidt are @) w40

o I I S (@) sfowa offdt e’ e ar. @ @ yeEE s (%) IR
AT WRHGTA Y9 3. 201 UG SH-FAF ()’ € TG O o &7 gt
HARIF 3.

w2 O Q@ @

Y TEdH TEd TTYRahdie Toos I gAal SaGhie 8 gl waaidl qiaoed
TAWEHRTT ™ o IHRASMANG Yaftd ade gofvt saifed $% SrEaE. g
e ehledl FIEY Siod aad, Uiee a1 orge O aras 4.
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